OATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATCGATC

o

[+] =
-
m ©ATCGATOGATCGATCGATCGATOGATCGATCGATOGATCGATCGATC GATCGATCGATCGATCGATCGATCGATCGATCGATCGATOGATCGATCGATCGATCGATCGATCGATCGATOGATCGATCGATOGATC GATOGATCGATCGATCGATCGATCGATCGATOGATCGATCGATOGASE &
ose 85
= “
= 9 O o
8= So3
208 o a
508 5
Ol- 2o
e =50
o
S8 5 Eo- oo o2
3 A T
m Wu -J = SN AL m.v ”
o K | L o3
g2 al Y gt = ¥ 328
@ 9 m,.L l#. —~ 0o
350 wb ogh e a53
M M /m n\ﬂr} NS = m.v M"
) “ RN ‘T_. ~ a3
=5 b T o TR o-a
o0 ’ )
O = \ - a4
58 e e
oL 2 : go3
253 wOSOR S &8
m
8 Y .7\ —t So3
o8 £ 32
3= S e -0 g%
-1 3
538 & ol RO e
so8 i =53
cYo /_.n. L 0 e
83 I £o2
53 A C 3-2
o0 A= %~ o>
otk o W 203
: 3 TR (RS 8
o= A EL- = 273
£0S 2 2 2 N e
322 w8 gc2
-
SR N D - -0
53 B AR - g e
2 S I
=
o —_ vl 3 0.
o m = ¢ s .%r 2%
o
oo e mww w7 um_ a8
O = ) o0
rYa 2 2 , - =90
=9 g A ol o 0%
o A T oln
oL .J; R VF S03
" Ay “20
m m N n ~ & b R
ook W Lo 39
oo G 0 e
2o \ - = — 83
m m wif 2= o-a
41 NN
32 I - NS ge
o8 B o-a
$:0 WSk v = a3
e i P Ks:=! =20
m 3 B A < 3 &) m $
- # N
e
= ~+ -
m m v mi‘ ax ) ° ”
9 = oD
o5 7 REE RN 200
) « £ 0Ze
] ﬁ\ F ,M,W.F /..F mﬁ. At M =
(& e i -0
oo dlm O
80 M £o3
Lok W : =450
$°3 h &g
O = ]
e - S
e O
3 006DOLYUOLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYI OLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYI OLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYIOLYD OLUIOLYIOLYIOLYIOLYIOLYIOLYIOLYIOLUDOLYIOLYIOLYD oS
< o
S 5LI90LU9OLU9OLYDOLYDOLUDDOLUDOLYIOLUDOLYDOLUDOLUOOLUOOLUOOLUDOLYOOLYDOLUOOLUDOLUOOLYUDOLUDDLUOOLUDOLUOOLUDOLUOOLUDOLYDOLUOOLUOOLUOOLUDOLYDOLUIOLUDOLUDDLUDOLUDOLYUDOLUDOLUOOLUDOLUIOLYDOLYS



